A= (Assignment)
e Hol drRipA (§1.7)
Bachelor of Arts Programme (B.A.)

fawr — srefaren faera ars - g
Subject : Economics Subject Code : UGEC
i Mee - aefomrea @ ¥ Rigra P drs - g oig
—01 Course Title : Fundamental of Economics Course Code:
UGEC-01

JAferdwdd 3® - 30

Maximum Marks: 30
e : < I g | 9T @ 3U Swik 800 € 1000 ¥l ¥ fard | WY ye arfard 2
Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer all
question. All questions are compulsory .
Section - A Aferdad 3i®H - 18
Evs — A’ Maximum Marks: 18

1. AET B AT PI AYR DI WS BT | G0 B o & A~ bR &1 A Scold 6
DIFOTY |

Explain the concept of Elasticity of Demand. Also mention the types of Elasticity of Demand.
3Ad1

qof GRAIRAT # JTeqdTele Ud Sredlel™ BH Ud STRT Axal &l WK $iford |

Explain short-run and long-run equilibrium of Firm and industry under Perfect Competition.
I

31efee T &1F o9 & fIs= 9§ fAefid 8Id) AMa sk Ud goivdr [aeelyor | 8
Ad eI U A9 BT A SR Foldh? aRUYg fJBrd &1 SfaeRonell d%b ugd qul
S BUT BT ATl B |

The scope of economics has developed from science of wealth creation to human behaviour
and scarcity analysis to human welfare and human development and concern for sustainable
development. Discuss.

o~

2. Il & eI AR RIgI=d &1 AT d AT HIfoTT | 6

Describe critically the liquidity preference theory of interest. .
3AdT
e A RIgT BT TAeH S AR BT |
Make an Analytical study of Revealed Preference Theory.
I
SUHRHT e TR o] a9 H FJol UKl xal &7 dCeedl ab [deelyul &1 Weridl 4
HSIST | SUHRH] ﬁmﬁmgﬁwmwﬁm@ﬁwww(ﬁww)w
6

UTd gedT &° FHSSU |

How consumer attains equilibrium in the commodity market? Explain with the help of indifference
curve analysis. What is the impact on it of a change in income and the price? Explain.

3. U NG &I WA H [H UHMABGRI & APl Ud Qe dTalid el ol ATl
BT | 6

Explain Short-run and Long run equilibrium of a monopolist with the help of appropriate diagrams
3TIdT



Rerel & JeTH® AR REHIT B AT IS RAT BT |

Describe critically the Ricardian Comparative cost theory.

3TqdT
guﬁmﬁwwwwmﬁwwﬁ%ﬁmlww

TR & DI ol dcd 27 FHSsy |

Differentiate between perfect competition market and monopolistic competition market. What
are the basic elements of perfect competition market? Explain.

Section - B Yrs — ¢’
JAfHaH b - 12
Maximum Marks: 12
qe : JY I U | UET B AU IR 200 ¥ 300 ¥l H ford | weft ye arfard 2
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory
4. JTHATY <1 2
Quasirent
3AdT

WIfde T Ui a7

Static and Dynamic Economics
3AdT

e g Hie e | 2
Micro and Macro economics.

5. QSUHIIATl ddd 2

Consumer surphus
3T

e H A
Equilibrium in Economics
31T
ol BT Fhid UaTs | 2

Circular flow of Money.

6. YA ¥Y Td IR Y 2

Balance of payment and Balance of Trade

AT
QQEZIC*HTEI

National Income

3T
TRAdT AT & T SAND | 2

Three Motives of Liquidity preference

7. 9a1 & WIfdd ©d Uit o 2

Static and Dynamic functions of mony
AT

IR 9
Balance of Trade
SRIT



T BT SIRIY U4 I(Raddr 98+ &1 Rigrd |

Risk and uncertainty theory of profit.

8. UBIIBRIHS Ffrarrdr

Monofoloistic Competition
3T
A faPT & el

Characteristics of underdevelopment

31Adr
YA ¥ Ud AR A9 |

Balance of payments and Balance of Trade.

9. RBTSI BT JA-TcAS AT gieahIor

Ricardian Comparative Cost theory.
31Ad1

arqet fcrTfTen
Imperfect Competition
3TAdT

a1 &1 31y fAarg o1 =i T ufhar e |

Myrdal's theory of cumulative causation of under-development.
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e Hol drRipA (§1.7)
Bachelor of Arts Programme (B.A.)

fawa — sefore faera s - g AL

Subject : Economics Subject Code : UGEC
3| e - wazar uiita & 9% P dis : goig @ —o02

ARd &1 e fawra Course Code : UGEC-02
Course Title : Indian Economic Development
Since Independence

3fSrdbdd 3P : 30

Maximum Marks: 30
e : < Sl 93 | 9T @ 310 S} 800 A 1000 Ireal N ford | wfy gy arfard 2

Note : Long Answer Question. Answer should be given in 800 to 1000 words.
Answer all question. All questions are compulsory

Section - A AfSrHad b : 18
g — I’ Maximum Marks: 18

1. WA B AR AR R & "gyqul {37 wdel @1 fades I | 6

Discuss the important fcatures of Indian Economy after independence.
3T

ARA SR & JMERYT AeTol B fIaeer P |
Discuss the salient features of Indian Economy.
SIDGHT
IRA @ e e # uafae dueEi & e @ aar oifs | 391 SarE! &
ARegOT T BN B fHar o1 FHar 87

Discuss the role of natural resources in economic development of India. How can these
resources be conserved and developed?

2. AR AT T 27 T e T aref yeRen # Aoreg i & I af & e
BT | 6

What is the Fiscal Policy? Discuss the objectives of Fiscal policy ina developing

economy.

31T
TATH ST T @ g [ARIvdmell Ud Sgadl & ARAT BT |
Discuss the mainfeatures and objectives of the New Industrial Policy.
SVEI

enfirs worar | |1 dead 87 9Rd § sienfire wvrar & e ud gRumEl w1 guie
BT |

What is meant by industrial sickness? Explain the causes and consequences at industrial
sickness in India.

3. A GuR A F1 A 27 39 7T § R WReR R a1 Y fhu 1 g7 6

What is meant by lard Reforms? What attempt have been made by Government of India
in this Connection?

31T
Ardoife or @ MeF B At w1 avfa i |



Explain the methods of redemption of public debt.
3frdT
Analyse the reasons for low national and per capita income in India. Give suggestions for its

improvement.
ART H TR IR vfiaafdd T &H 819 @ HRUIT & Q790 S| 394

gUR 8g g1d AR |

Section - B
g — q

3fddd 3P : 12

Maximum Marks: 12

e : oY I YT | 9T B I(UF Scax 200 9§ 300 veal ¥ ford | @t yed sfard 2

Note : Short Answer Question. Answer should be given in 200 to 300 words.

All questions are compulsory
4, MRA AT AR @1 e vgfcaal o1 faaeer S | 2
Discuss the recent trends of foreign Trde in India.
AT

I GER ¥ 3T T T B
Whast do you understand by Land Reforms?
31erdr
Discuss the main causes of backwardness of Indian agriculture.

IR B & Uog & 9% SR 31 g I |

T | 2

5. YN srfeqaee # grdvifie SUhdl & Hgcd &l fAda-T @

Discuss the importance of Public Enterprises in Indian Economy.

3ferdr
Examine the role of industrialization in economic development in India.

IRA @ M e # e & e &1 qediea B |

arerar
3TN BT & UHE BRI 87 HRd & HaW H ARAT HITOTT |

What are the major causes of industrial sickness?

6. IRA ¥ oY TN &I TRI AARIG RT 57
What are the main problems of small scale Industries in India.
aferar
IRA H 71 BfY Iaeeal @ IR & BRY sy |
Discuss the main four causes of tow productivity of agriculture in India.

AT

Write the composition at India’s exports and imports.
IRA & Fafa—amand @ dwaeT ford |

7. e 1 W fera fewoft flaw |
Write short note on Industrial labour.
SICI
A Y sff®
Landless Agricultral labourers.
S1AdT



Throw light on the present position of public enterprises in India.
RA # ATGSd SUBH B gad Rfa o a1 siferd |

8. WIRA H YEIBIV R T wfera fewof faRay |
Write a short rote on Urbanization of India
3frdr
Write the main problems of small-scale industries in India?
IRA ¥ ofg SRl & & I ford |
3frdr
RSTd d & = Bl BT Ieoid DI |
What are the functions of Reserve Bank of India?

0. ATAGI<p &5 | MY T FHeT 87
What do you understand by public sector?
31erdar
Discuss the main sources of industrial finance in India.
IR H e 0 & 970 AeFl 31 ARAT Hifo |
31T
ART H TEABIOT BT RIS BT Al H qHesy |

Explain briefly the problems of urbanisation.
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Maximum Marks: 30
die : & I U | YTl @ AU S} 800 | 1000 ekl H foad | Y ye fvard 2

Note : Long Answer Question. Answer should be given in 800 to 1000 words.
Answer all question. All questions are compulsory

Section - A frpda 3d : 18
Hrg — I’ Maximum Marks: 18
1. BI—TUgHT Feaw Uil 1 HIfo | 6

Calculate Karl Person coefficient of correlation
X:40,46,50,55,60,60,75,80
Y:36,40,40,50,65,70,80,90 .
3frdr
TR awI] § Feawg Uld ST HI |
X 12327282930 31 33 35 36 39
Y : 18 22 23 24 25 25 28 29 30 32
Calculate coefficient of correlation from the following data.
X :-23272829303133353639
Y :- 18 22 23 24 25 25 28 29 30 32
3fedT
rfeT o ARSI BT SUART / Agcd T 27
What are the uses/Importance of statistics in Economics? Discuss the limitations of

statistics.
2. UIRAT &1 INT T4 [0 YHY SSTER0T Aied FHssy | 6
Explain the addition and Multiplication Theorem of probability with suitable example.

arerar
BTl Il & HUCH] B ARAT DI |

Discuss the components of timeseries.

AT

Ified IR fgdud sndel # MR We dIfory wrafie Ug fgdiy oniesl @ Adhad @l
faferl gargy |

Differentiate between primary and secondary data. Explain the methods of primary and
secondary data collection.




3. GABiH AT o AR 2RO a8 |

Explain the various steps of constructing index number.

AT
ffaRea el 9 fheR @1 aeel qawie sma S |
TR 9 qy
qE], GGG AT LG AT
v 40 3 60 2
C 50 4 60 4
1 70 2 90 2
n 20 3 10 5
Find Fisher’s Ideal Index from the following data :

ITER Ty gy
qE], LG AT CALG] =T
A 40 3 60 2
B 50 4 60 4
C 70 2 90 2
D 20 3 10 5

ST

Tg IR et o 391 § TR ity | ufiies g iR IR gfiee 4 # a1 o 77
What are the main non sampling errors? Explain. What is differentce between sampling error
and non-sampling error.

Section - B AfSrHad 3P : 12
wg — q Maximum Marks: 12

ic : dY ST U | UFT B AU IR 200 ¥ 300 el H ford | @t yed aifvard 2

Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. f§U de7 & W I | 2
Explain the Binomial Distribution.
AAdT

Distinguish between classification and tabulation of data.
THDI & IHIHR U ARVNIT H 3R BTy |

AT

5. AiRgD FfeAr T 57 2
What are statistical errors?
3T

Define statistical data. Point out their chief characteristics giving suitable examples.

ARFHIT THH B aRETET SRTT | SUGad ISRV ad gU 9D G ARuamell $1 Scold
PBITTT |

372rdr
=T Bl Ao PIFRTY |

108x2v*

36XY

xX2 - X3
7

b —_—
®) ox® _sx



6. ITOTCIT UAT'TT AHSTISU | 2

Explain Mathematical expectations.
ST
Distinguish between Diagram and Graph.

%aawﬁ@azﬁ‘eﬁawaﬁml
ﬁwﬁ@ﬁww@aﬁml

Factorize the following.
9X?+ 13X + 9 - 16y*

7. TR URG BT 31f AT | 2
Explain the meaning of null hypothesis.
AT

T Td IRUT Bl Dl SGTEx0 dfed FHSSU |
Explain Explicit and Implicit functions with examples.
3ferdT

Simplify the following.
2X - [3X + (Y - 2X) - 7Y]

s. ("9 @ 8?

What is sampling.

AT
IR Bl URATYT IS |
Define probability.

3frdT
TR fa=gall & Heg g =1d BTy |
Find distance between two poins of the following.
(@P(45), Q@B8), (b PO 8 Q(4 6)

o. GHPI & gl Us" M & Wecd Pl A | 2

Explain the importance of Graphic Presentation of data.

3T
Define correlation and distinguish between positive and negative carrelation.

TEara= bl gRYINT HISTT d2AT Y9THD Ud FOMcHD Tady § X DIV |
ayerar

n &I 79 S BIg afe 2

Find value of n if.
"p, 132
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AfHaH b : 30
Maximum Marks: 30
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Note : Long Answer Question. Answer should be given in 800 to 1000 words.
Answer all question. All questions are compulsory

Section - A fereaH 3(® - 18
Evs — A Maximum Marks: 18
1. 9 g § uRade @ fade $HIfey | 6
Discuss the changes in the land system.
31T

%ﬁgﬂw R cmust Rk ﬁ%ﬁ?ﬂ 3 m;@'zﬁ Gﬁﬁm@%

“Our land reform progr mme have not been S ccessful ecause. it could not
Hvdert non cono 1C Tl 1nt0 €co ones 1scuss this statement
ISCUSS t e approprla eness coopera ve armlng as land reform.

ﬁs‘éww%ﬂﬁﬁam% FIfh 98 TRIg 8 " FHIET DITT |

"A Country is poor becuase it is poor", comment.

2. 93 affe A (1991) & 18 FHMN IUGH Bl 9&M & oY 3UAS SH drell fAf= Taeiian|
P IRAT DIV | 6

Explain different techniques for increasing agricultural production in India adopted after New
Economic policy (1991).

%g({iﬁf?aéﬂaa?waﬁmﬁléﬂﬁm glaemsil & garR &

HI2PIT ¥ DHSH ISV & 7

xplain the main squrces of .irrigation in India..Wha ste s have been taken b
Il:iepGovernment to Improve |rr|gg Iton faC|II|t|es in Indi P y

AT

ﬁ%ﬂlwwﬁﬂmﬁﬂaﬁaﬁﬂ%@wawﬁmzﬁwﬁa%wﬂm

Evaluate the causes of backwardness and stagation of Indian agriculture during the British rule.

3. YRA H PV fAuord o THITAT BT Fq18d | Refd § garR & forg Bii—aid
H $HSH IBN T 57 6



Explain the problems of Agricultural Marketing in India. What steps have been taken to improve
the situation?

3AdT
Wﬁﬁﬁ@gﬁlﬁWﬁlf%@mmﬁﬁWWQWﬁ

v .main features an f f.agricultyral marketing in_India. \What |
%e ce:otn Ehmj’j{lon %aft gcs)p%rgﬁc\l/% %%Srkoetl%% s%%ltéh%s marer%tovgng thegeadefec% 55
1T
qRA H B O & Ida dF BT uieor Sy |
Explain and present mechanism of Agricultural Finance in India.

Section - B 3fSrdbdd 3P : 12
e — g’

Maximum Marks: 12

e - JY S U | YT P (U S« 200 9 300 ekl A ford | @l gy afrrand 2
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. YR H JTNOT RIGHRI H gig & BRI Dl FH1Y |

Explain the causes of increase in rural unemployment in India
341
1760 W 1943 & W& YRd H UYgd dldl I 3fdblell bl T faRiwag off 3R
S UR ITh] T GATT Tgl 2 2

State the characteristics of major famies in India between 1760 and 1943 and
Elucidate their impact on India Agriculture ?

341
qRd H YA GuR & faftre deon &1 fadamr S |

Discuss specific characteristics of Land Reforms in India

5. MRAY HY IR gRT Difsd & yd &I fad=a=T Iy |

Explain the impact of Green Revolution on Indian Agriculture.

31T
YR H YTN0T TRIE] BT G DR B ARDRI TATAT bl FqHIET BIfTY |
Evaluate Government efforts to remove rural poverty in India?
Jrerar
IRA ¥ BT o 9419 Fg AT BT quid DI | 2

Discuss New strategy of Agriculture in India.

6. WRA H YT TN R DR & SUNT DI FHSTSY |

Explain the measures (remedies) to remove the rural poverty of India.

31eqar
TRA H Aol fadRoT Yourell R Jrera-rcad Hawr fofRau |
Critically evlauate the Public Distribution System in India ?
31erar

IRA ¥ By fJuor & gdqe Rerfa &1 aran Hife |

Discuss the Present Position of Agricultural Marketing in India.
7. BN Td e # uReRe fiRar aHEnsy |
Explain the interdependency between Agriculture and Industry.
31
IRA ¥ HY U Bl bl & T B 9o B | 2

Explain the defects of Agricultural Products Marketing in India ?
3TqdT



AISTI—dhTed H BN fdebrd’ R Gfera fewofy fofRay | 2

Write a short note on 'Agricultural development' under the Plan period.

8.  ®Y B ARIHIV

Industrialisation of Agriculture.
37qdr

I @ Fhdal W R®T MU § ? AR H 59 GIR Bl R AR fhar 13y ?

What do you mean by consolidation of land holdings ? Why this reform was introduced in India ?

31Adr
I $fY gd g [ db
National Bank for Agricultural and Rural Development
9. Tl Nl ISR
Food Security Act.
341

“HRA § IR BRA BI B M IHel 2 5H BAT B Had H (U f[TaR e B | 2

“India needs a second green revolution” Express your views with reference to this statement.
341

=g gut & SR Ifefyaven ¥ 8 8 WAvaqe uRad=l & ufoeul &1 Az HIifu |

Analyse the Patterns of structural changes which have taken place in the Indian economy
during recent years.
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ec onomi S ect Co UGEC
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Course Title : Elementary Mathematical Course Code : UGEC-05
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AfHad 3P : 30
Maximum Marks: 30
dic : <" Skl U | YT @ 31U Swi} 800 ¥ 1000 ¥eal ¥ foad@ | Wt gw sifand 2
Note : Long Answer Question. Answer should be given in 800 to 1000 words.

Answer all question. All questions are compulsory
Section - A ey 3i® - 18
Eus — A’ Maximum Marks: 18

1. Describe Harrod’s conception of Economics Dynamics. 6

IS P 3 grafTa & aROT &1 faveiyor S |

31T
o N _UHH TR BT 59 YT B & foTg 319HIE ST dTten ufdsan
& RO TR |
Write down the steps of the procedure to obtain the dual of a linear programming

problem.
3Td1

JITHT BT AR T T T FASI 27 D] IJIdl I Bl &
MfHTH TAT gAdH A B fhd UBR Mdprerd 87 I IR0
qPN AHITSY |

What do you mean by the Concept of Differentiation? How does it help in
calculating the maximum and minimum limit of a function? Explain with
suitable examples.

2. Define Integration and Describe the methods of Integration. 6
HATDHAT DI URFIINT DI Yd T dl falfral o1 fawgd fadas
DI |

3ferdr

Sfeass vd M & f[daR &1 F93gy |

Explain an idea of Maxima and Minima.
31erar

AT 3R 3TgE # 1 AR &7 Mg @ A~ YHRI bl Sferd
STERYT & BTl o A |

What is difference between vector and matrix? Explain different types of matrix  with
the help of suitable examples.

3. Describe analytically the use of Mathematics in Economics 6

31f o ¥ T & UART AT fawgd fadas @iy |



AT

el &1 Aiacd Ud 3Tided Bl aHsnas iy | 6
Explain continuity and discontinuity of a function
3Adr

Explain the Input-Output analysis.
JMTa—fta fQ" oo @t e BT |

Section - B 3ferpdd 3P : 12
wus—'q’ Maximum Marks: 12

qic . oY S U | Ul P U9 Sk 200 ¥ 300 weal d foadd | @l yea siftand @
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. Explain the Utilization of Differentiation in Economics. 2
312l IMAT H 3[aPheld dl IYAR SRIEL

Jrrdr
Y EIRRC 2

dx

Find Y Y =3

dn
3rqdr
What do you mean by function? Explain a linear function with the help of
graph.

Beld I MY T FISId & 2 U IRIP Bl BT IGTRIF gIRT FHSSY |

5. lee the assu EF;ﬁ)tlon of Linear programming. 2
wluﬁ I RIDECRIERN
JITdH T a% gRATST U | 2
Define a derivative.
arerar

Find out differentiation of the following:
(1) -x2+2x (ii) 3X3-X+8

6. Give the uses of equation in Economics. 2
BT 3 H IUANT gadrgd |

31erar
3Ta i fawelyor | oMy 1 FHerd &2 2
What do you understand by input-output analysis?

31erar

Explain the importance of the partial differentiation.
AP b BT A FHASY |

7. Explain the forms of functions. 2



Bl & ®Y gd1gd |

31ergy
AT Bl
Demand functtion

31T

Explain Integratin in brief.

THIh T Bl Aferd § Iasmsy |

8. Define Input-Output analysis. 2
JTA— e fagei o BI aR9TYA BTy |

AT

we 1] e [12]
ST BITY A+B

Find :

AT

If elasticity of Demand is %4 and Demand is X=2 on P=1. Find outthe ~ demand
function.

AT P A 1,/4 8| 3R PAT P=1WR | X=2 8 | 1T Head BbIferd |

9. Define matrix. 2
Mg BT URWINT BHITT
aferar
T TR BT AT B 1 BIoTY | 2
D=18—P gl

P=3TR HAT T 817
Demand function of any commodity is D = 18 - P, A + P = 3, What will be demand?

37Tt
What is set?

Y T 87
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B Mw : anlfe e & 9oy | 6 g Aeaa— Fd Pis : g —o06
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3ferpdd @ : 30

Maximum Marks: 30

e ;. fid Sy 9T | 9EE @ 39 Swi} 800 | 1000 el # ford | Wl ye sifard @
Note : Long Answer Question. Answer should be given in 800 to 1000 words.
Answer all question. All questions are compulsory
Section - A ey 3i®H - 18
s — I Maximum Marks: 18

1. IR BT w1 8?2 ficd § I=I9dl ¥4l & Iailg Ud ddl 94l & Jdig
H B9 grel el fohamsil @l gfg &1 Uhfd R ey d yH'T SIfery |
What is Industrial Revolution? Briefly highlight the nature of growth of industrial

activity in Britain in the late nineteenth and early twentieth century.
AAdT

STIUS H 1920 Pl HEFHAI B BN B ATV HIfSTT | TRBR gRT Ta-T B
e 3 JIUARI T IURT BT quid HIFY |

Analyse the causes of the Great Depression in England during the 1929’s
Discuss the remedies adopted by the Government to solve the crisis.6

AT

e wifq &1 ot Y | 6

Describe industrial revolution.

0. Infeies fadr & 3u &1 wHsId &7 anfdfe fawry & aae & fafr=r a¥iai
BT JTATATHD fdda= BV |

What do you understand by Economic Development? Discuss critically different
methods used to measure economic development.

3T
wifag g 3 Wori @dn e 4 2 doe B WP D
forg HIfaad TReR g &Lﬁ)mwu[%mw%1%| e Pl

What do you understand by scissor’s crisis in Solviet Union ? Discuss the steps taken by the
Soviet Government to solve the problem.

AT
faes @1 fagwt & a9 &1 9viF oY | 6

Discuss the investment of Britain abroad.

3.8 g @ WA BM d 96 ®ll DR gRT YH DI Mg 744 3 AfT @l
T f3M9drel &1 quie HIY | T & AR 84 | Sd= TR & I 4
e # garsy |




Discuss salient features of the new economic policy initiated by the soviet Government
after the Civil war was over. Give a brief account of problems that. arose when the
policy was implemented.

AT
Examine the social, economic and political changes in Meiji Restoration. What
were the effects of the changes ?

g@%—m ¥ Ao e;lﬂf@i?ﬁ R YroHIfde gRad=l BT eI dHIfoTu |
3reraT
SO 1 3refegawer § ST &l T IS Y&l & ?

What is the contribution of industry in Japan.
Section - B AferdaH 3®H - 12
grs—q’ Maximum Marks: 12

dic . oY S U | Ul P U9 Sk 200 ¥ 300 weal d foadd | @l yea siftand @
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. UM "9 gg 7 SO srfeawe &l {65 dRE AW ugdaran o1e 2

How did the first world war benefit the Japanese economy?
I

<3
Growth Rate
31erdr

JTFCEN Bifcl
October revolution
5. INCIT ENT Ueod oM fAhRT Bl TH—3H ITaved] BT SMela-Tcdd TNIETI HIfSTT | 2

Critically examine the . ‘take off stage of economic development given by
Rostow.

31erar
SREICECIEED 2
Unequal Exchange
31rar
Aifgad w4 # T30 enfdfe M
New economic policy of Soviet Russia
6. 3@ e Ta onfdfes gig # ok T I | 2
Distinguish between Economic development and economic growth .
3T
ol fFrafa
Capital Export
31rar
SEIRCRIRERIGEO)| 2

Colonial System

7. SRR YA aRel HI AUl SRR §RT ARl BT Bl [HDT Bl AT
B | 2

Explain the balancing role played by Colonial transfer in the international



payment system.

3TAdT
59 G5l Srlegavel
Labour Intensive Economy

31qdr
AHIUTI TR

Triangular Trade

8. I3 §NT UG 31 & RIAd Uil & RIgT= @1 sfarcdsd U forfay |

Write critical appraisal of Levis Theory of Unlimited supplies of labonr.

ayerar
anfefep fawrT & Tl

State of Economic Development

AAdT
U H By srarer

Agricultural Revolution in Japan

o. feuofy forRay:
Write short notes on:
(@) FATSTATG
Socialism
(@) Fgfera gfg
Balanced growth
SRAdT

el fapfa sreiegdwer |

Underdeveloped Economy

AT
GIfId ®U HT Ugauig bl groT-
USSR 5 years plan
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rfer=ams (Assignment) 2017-2018
Hdd Hol dRiwpA (§1.7)
Bachelor of Arts Programme (B.A.)

fawa — sefore faerg @rs - g ofigasdl —o3
Subject : Economics Subject Code : UGSEC-03
P i Rty forerer Frle o o ®d s - goilvasd. —o3
Course Title : Rural Development- Planning and management Course Code : UGSEC-03
JAfrdaH b : 30

Maximum Marks: 30

e : " ST 9EE | WA 9Tl @ Swi} 800 | 1000 ¥eal # ford | Wl ye arfard @
Note : Long Answer Question. Answer should be given in 800 to 1000 words. Answer
all question. All questions are compulsory
Section - A JAferdad 3 - 18
s — I’ Maximum Marks: 18

1. AT JMEMRT U a1 87 9RA il rfeere § I8 {5 UoR dMead & Aadl 27
What is community based program? How it can be useful for an economy like India?
2. 9RT H UM Aer H ADH=Eaor 31 qfHer qassdy | 6
Explain the role of decentralization in rural development in India.
3. YRIISTHAT HedTh= DI UlshAT bl IR DI 6
Explain the process of project evaluation.
Section - B s —
q Jferpad e : 12
Maximum Marks: 12
e : oY SwF 9T | ¥ @ U Swi¥ 200 9 300 el ¥ ford | WY g arfard 2

Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4T faerT aRETSTHT saven & Uis 91 faar 27 2
What is the concept behind the management of rural development project?
5. URISHT &R &3 & oy Aeas 3"y 2
Network analysis of project Implementation .
6. WIBdH T 2
Voluntary effort.
7. IO & RIGTAl BT JMARHTHS ARET BITY | 2

Critically explain the theories of planning.
8. RIS IR¥eds & facha wefear @ arer $Hifg | 2

Describe about the financial feasibility of project appraisal.
0. fAB=HTHRUT iR Sl e & 2°? 2

What is decentralization and multi-level planning?




